2?0 210 2?29 213 9
+?246 0 +446 +243 [0 +443
65? 656 68? 6382

(18)

+ 10 + 20 + 50 ¥ 100 + 50 + 20 + 10
250 260 280 330 430 480 500 510
300 | i i i i i
500 ............................................................................................................................................
555 | il i i i i i
740 | o i i i i o
1250 300 500 555 740
] + 260 + 260 + 260 + 260 + 260
5 1 o ................................................................
+ Observe et complete :
O 312 + 184 312
312+ 184 =312+ 100+ 80 + 4 + 184
312 + 100 = 412 412 + 80 =492 492 + 4 = 496 496
0 561 + 238 561
561 + 238 =561 + .. ... + o + . + 238
561 + ... = + = + =
0 709 + 147 709
700 + 147 = ... + + + . + 147
.......... + o= i F = =L
« Compleéte les opérations suivantes :
2.0 2 8. .32 2 .0 28 .
+ .46 + 3.6 + 7. 6 + 44 + .16
65 97 95 .57 8.8
2.9 38 .14 8 .5 19 .
+ .43 + 3.8 + 6. 6 + 17 + .76
68 . .51 87 .80 7.5




